

## نماذج أجابة أسئلة امتحان تقييمي أول

عمل / أ . أحمد نصار

(1)

$$\int (x + 2) \sqrt[3]{x^2 + 4x - 1} dx$$

الحل :

$$u = x^2 + 4x - 1 \quad \text{بفرض}$$

$$du = (2x + 4)dx \quad , \quad \frac{1}{2} du = (x + 2)dx$$

$$\begin{aligned} \int (x + 2) \sqrt[3]{x^2 + 4x - 1} dx &= \int u^{\frac{1}{3}} \left( \frac{1}{2} du \right) \\ &= \frac{1}{2} \int u^{\frac{1}{3}} du \\ &= \frac{1}{2} \left[ \frac{3}{4} u^{\frac{4}{3}} \right] + C \end{aligned}$$

$$\therefore \int (x + 2) \sqrt[3]{x^2 + 4x - 1} dx = \frac{3}{8} (x^2 + 4x - 1)^{\frac{4}{3}} + C$$

(2)

$$\int \frac{5}{\sqrt{x}(\sqrt{x}+2)^3} dx \quad \text{أوجد :}$$

$$\int \frac{5}{x^{\frac{1}{2}}(x^{\frac{1}{2}}+2)^3} dx =$$

$$= \int 5 x^{\frac{-1}{2}} (x^{\frac{1}{2}}+2)^{-3} dx = 5 \int (x^{\frac{1}{2}}+2)^{-3} x^{\frac{-1}{2}} dx$$

نفرض أن  $u = x^{\frac{1}{2}} + 2$    $du = \frac{1}{2} x^{\frac{-1}{2}} dx$

$$2 du = x^{\frac{-1}{2}} dx$$

$$5 \int (x^{\frac{1}{2}}+2)^{-3} x^{\frac{-1}{2}} dx = 5 \int u^{-3} \cdot 2 du = 10 \int u^{-3} du$$

$$= 10 \cdot \frac{u^{-2}}{-2} + C = \frac{-5}{u^2} + C = \frac{-5}{(\sqrt{x}+2)^2} + C$$

**(3)**

$$\int x(2x - 1)^3 dx$$

الحل:

$$u = 2x - 1 \Rightarrow du = 2dx \Rightarrow \frac{du}{2} = dx$$

$$u = 2x - 1 \Rightarrow 2x = u + 1 \Rightarrow x = \frac{u + 1}{2}$$

$$\int x(2x - 1)^3 dx = \int \left( \frac{u + 1}{2} \right) u^3 \frac{du}{2} = \frac{1}{4} \int (u^4 + u^3) du$$

$$= \frac{1}{4} \left( \frac{u^5}{5} + \frac{u^4}{4} + C \right) = \frac{1}{20} (2x - 1)^5 + \frac{1}{16} (2x - 1)^4 + C$$

(4)

$$\int x^5 \sqrt{3+x^2} dx$$

الحل:

$$u = 3 + x^2 \Rightarrow du = 2x dx \Rightarrow \frac{du}{2} = x dx$$

$$\int x^5 \sqrt{3+x^2} dx = \int \sqrt{3+x^2} (x^4)(x dx)$$

$$u = 3 + x^2 \Rightarrow x^2 = u - 3 \Rightarrow x^4 = (u - 3)^2$$

$$\int x^5 \sqrt{3+x^2} dx = \int \sqrt{3+x^2} (x^4)(x dx)$$

$$= \int \sqrt{u} (u - 3)^2 \frac{du}{2} = \frac{1}{2} \int u^{\frac{1}{2}} (u^2 - 6u + 9) du = \frac{1}{2} \int \left( u^{\frac{5}{2}} - 6u^{\frac{3}{2}} + 9u^{\frac{1}{2}} \right) du$$

$$= \frac{1}{2} \left( \frac{u^{\frac{7}{2}}}{\frac{7}{2}} - \frac{6u^{\frac{5}{2}}}{\frac{5}{2}} + \frac{9u^{\frac{3}{2}}}{\frac{3}{2}} + C \right) = \frac{1}{7} u^{\frac{7}{2}} - \frac{6}{5} u^{\frac{5}{2}} + 3u^{\frac{3}{2}} + C$$

$$= \frac{1}{7} (3+x^2)^{\frac{7}{2}} - \frac{6}{5} (3+x^2)^{\frac{5}{2}} + 3(3+x^2)^{\frac{3}{2}} + C$$

**(5)**

$$\int x \sec^2(x^2 + 2) dx$$

الحل:

$$u = x^2 + 2 \Rightarrow du = 2x dx \Rightarrow \frac{1}{2} du = x dx$$

$$\begin{aligned} \int x \sec^2(x^2 + 2) dx &= \int \sec^2 u \left( \frac{1}{2} du \right) \\ &= \frac{1}{2} \int \sec^2 u du = \frac{1}{2} \tan u + C = \frac{1}{2} \tan(x^2 + 2) + C \end{aligned}$$

**(6)**

$$\int \csc^5 x \cot x dx$$

الحل:

$$u = \csc x \Rightarrow du = -\csc x \cot x dx \Rightarrow -du = \csc x \cot x dx$$

$$\int \csc^5 x \cot x dx = \int \csc^4 x \cdot \csc x \cot x dx = \int u^4 (-du)$$

$$= -\int u^4 du = -\frac{u^5}{5} + C = -\frac{1}{5} \csc^5 x + C$$

**(7)**

$$\int \cot x \, dx$$

الحل:

$$\int \cot x \, dx = \int \frac{\cos x}{\sin x} \, dx$$

$$u = \sin x \Rightarrow du = \cos x \, dx$$

$$\int \cot x \, dx = \int \frac{du}{u} = \ln|u| + C = \ln|\sin x| + C$$

**(8)**

$$\int (3 + \sin 2x)^5 \cos 2x \, dx$$

اوجد قيمة التكامل :

الحل

$$\int (3 + \sin 2x)^5 \cos 2x \, dx$$

$$= \int \frac{1}{2} u^5 \, du$$

$$= \frac{u^6}{12} + C$$

$$= \frac{(3 + \sin 2x)^6}{12} + C$$

$$u = (3 + \sin 2x)$$

$$du = 2 \cos 2x \, dx$$

$$\frac{1}{2} du = \cos 2x \, dx$$

(9)

$$\int \frac{dx}{(\sin^2 x) \sqrt{1 + \cot x}} dx$$

$$= \int \frac{1}{\sqrt{1 + \cot x}} \cdot \frac{1}{\sin^2 x} dx$$

$$= \int (1 + \cot x)^{-1/2} \cdot \csc^2 x dx$$

نفرض أن

$$u = 1 + \cot x$$

$$du = -\csc^2 x dx$$

$$\therefore \ominus \int (1 + \cot x)^{-1/2} \cdot \ominus \csc^2 x dx$$

بالتعويض

$$= - \int u^{-1/2} du$$

$$= - \frac{u^{1/2}}{1/2} + C$$

$$= -2 \sqrt{u} + C$$

$$= -2 \sqrt{1 + \cot x} + C$$

**(10)**

$$\int \frac{3t^2 - 6t}{t^3 - 3t^2 + 8} dt$$

**نفرض أن**  $u = t^3 - 3t^2 + 8 \longrightarrow du = (3t^2 - 6t) dt$

$$\begin{aligned} \int \frac{3t^2 - 6t}{t^3 - 3t^2 + 8} dx &= \int \frac{1}{u} du = \ln |u| + C \\ &= \ln |t^3 - 3t^2 + 8| + C \end{aligned}$$

$$\begin{aligned} &\int \frac{x^3 + 4}{x} dx \\ &= \int \left( \frac{x^3}{x} + \frac{4}{x} \right) dx \\ &= \int \left( x^2 + \frac{4}{x} \right) dx \\ &= \frac{x^3}{3} + 4 \ln |x| + C \end{aligned}$$



**(11)**

$$\int \frac{x+1}{\sqrt[3]{x+1}} dx = \int \frac{(\sqrt[3]{x+1})(\sqrt[3]{x^2}-\sqrt[3]{x+1})}{(\sqrt[3]{x+1})} dx$$

$$a^3 + b^3 = (a+b)(a^2 - ab + b^2)$$

$$= \int (\sqrt[3]{x^2} - \sqrt[3]{x+1}) dx$$

$$= \int (x^{\frac{2}{3}} - x^{\frac{1}{3}} + 1) dx$$

قاعدة الجمع والطرح

$$= \frac{3}{5} x^{\frac{5}{3}} - \frac{3}{4} x^{\frac{4}{3}} + x + C$$

$$= \frac{3}{5} x \sqrt[3]{x^2} - \frac{3}{4} x \sqrt[3]{x} + x + C$$

**(12)**

$$\int (x^2 - 2)e^{x^3 - 6x} dx$$

أوجد:

الحل

$$I = \int e^{\underline{x^3 - 6x}} \cdot \underline{(x^2 - 2)} dx$$

$$= \int e^u \cdot \frac{1}{3} du$$

$$= \frac{1}{3} e^u + C$$

$$= \frac{1}{3} e^{x^3 - 6x} + C$$

$$u = \underline{x^3 - 6x}$$

$$du = (3x^2 - 6) dx$$

$$du = 3(x^2 - 2) dx$$

$$\frac{1}{3} du = \underline{(x^2 - 2) dx}$$

**(13)**

$$\int \frac{1}{x^2} e^{\frac{1}{x}} dx$$

أوجد:

الحل

$$I = \int e^{\frac{1}{x}} \cdot \frac{1}{x^2} dx$$

$$= \int e^u \cdot du$$

$$= -e^u + C = -e^{\frac{1}{x}} + C$$

$$u = \frac{1}{x}$$

$$du = -\frac{1}{x^2} dx$$

$$-du = \frac{1}{x^2} dx$$

**(14)**

$$\int \frac{e^x}{e^x + 1} dx$$

أوجد:

الحل

$$I = \int \frac{1}{u} du$$

$$= \ln |u| + C$$

$$= \ln |e^x + 1| + C$$

$$u = e^x + 1$$

$$du = e^x dx$$

**(15)**

$$\int (2 \tan x - \csc^2 x) dx$$

$$\int \tan x dx = \int \frac{\sin x}{\cos x} dx \quad \left| \begin{array}{l} u = \cos x \\ du = -\sin x dx \end{array} \right.$$
$$= - \int \frac{du}{u}$$

$$= - \ln |u| + C$$

$$= - \ln | \cos x | + C$$

$$\therefore I = -2 \ln |\cos x| + \cot x + C$$